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Instructions: You can solve these problems by hand or using technology, or some combination—this last
is the most likely scenario. (You may use MatLab, for instance.) You should provide a graph that shows
surfaces or curves of intersection, or paths. To obtain the graphs, you can use MatLab or another
software program (free or otherwise). Each revised problem is worth 4 points.

1. Use Stokes’ Theorem to evaluate fc F - df for F(x,y,2z) = zi + xyj + 4xk where C is the intersection
of the plane y + z = 5 and x? + y? = 16 oriented counterclockwise from above.
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2. Evaluate fc F - df for F(x,y) = 3yl + 7x] over the elllpse give byx + 4y? = 12 [Recall the

area of an ellipse|is A = mab.] {2,
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3. Use the fact that F
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4. Evaluate [, F-df
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v the provided curve, and the straight-line path on the same graph.)
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for F(x, y,2) = xi — yj + xyk over the cur\ée C:7(t) = cos4ti+ s
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5. Evaluate [. ysec?xds on the line segment from (=1,2) to (5,4).
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6. Find the area of the region inside = 1 + cos 8 and outside r = 3cos@.
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7. Setupthe triple i
andx =12 — y?
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8. Convert the integral

coordinates. Eval
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[Hint: using a version of
_ bstitutions.]
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